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Simplify: (6 - 243

A) B)
18+212 18-2412

C) D)
18+122 18-122

WY T (V6-243)

A) B)
18+2:12 18-2412
C) D)
18+122 18-122
Answer Key : D Your Response : Not Answered

Question No. 2
Which agent produces a local or general loss of sensafion?

A)Anaesthetic B)Oxygen

C)Glucose D)Blood

D W NPT T AT AN SRR SR FRdl 8

A)fedas (Anaesthetic) B) 3iferdiratat

C)Tel ISl D)T&Fd

Answer Key : A Your Response : A (Correct)

Question No. 3
According to Mendeleev's periodic law, the elements were aranged in the periodic table in the order of-  Top
A)lncreasing atomic masses B)Decreasing atomic masses



C)Decreasing atomic number D)Increasing atomic number

#edd B AR FIIH & IUR, dedf & 3mad Rl @ & MR W gy e TR e
A)SGd TRANY geaa Tt B)Ycd URHIY] Gea#ma

C)ucd URHIY] & D)dgd URHIY] FaTH

Answer Key : A Your Response : D (Wrong)

Question No. 4

In the given figure, the circle represents educated, rectangle
represents unemployed, and square represents villagers. Which region
represents villagers and educated but not an unemployed?

A) B)

L2

o]

C) D)

A B
) 5 )
3
Q) D)
1
4
Answer Key : D Your Response : C (Wrong)

Question No. 5

Lactose is composed of and glucose.
A)Fructose B)Sucrose
C)Galactose D)Maltose

Top



Al IR s @ & QT g

A)ThaeTs B)H gioT
C)dteraerst D)ATeerst
Answer Key : C Your Response : D (Wrong)

Question No. 6
What is the LCM of 6(xy - y), 8 (x*y - xy)?
A)24 xy (x° - 1) B)(x* - 1) xy
C)24 (x* -1) D)24 xy

603y - Y 8 (xR - xy) BT WHW. (LCM) FATTTEWY
A)24 Xy (X3 - 1) B)(X3 . 1) Xy

)24 (x3 -1) D)24 xy
Answer Key : A Your Response : A (Correct)

Question No. 7
Find the smallest three-digit number that is exactly divisible by 12, 15 and 24.
A)360 B)120
C)180 D)240

T 3 B 97 B A B Ve AT, S 12, 15 IR 24 F yoiTAwr s R

A)360 B)120
C)180 D)240
Answer Key : B Your Response : B (Correct)

Question No. 8
Simplify: cos(30° - A) - cos(30° + A)
A)cos A B)(1/2)sinA
C)sin A D)2sinA

WA PT : cos@BU” - A) - cosGI” + A)

A)cos A B)(1/2)sinA
C)sin A D)2sinA
Answer Key: C Your Response : Not Answered

Question No. 9
Sound travels in a medium as a-

A)Straight line B)Series of compressions and rarefactions
C) Beam D)Particle

waf fpdt off wegs # & ¥ % HaRa Bt B

A B) sl wa fawerstt 1 sroo@en

C)fazor D) U

Answer Key : B Your Response : B (Correct)

Question No. 10
The reaction of sodium sulphate and barium chloride solutiom is an example of-
A)Double displacement reaction B)Endothermic reaction Top
C)Single displacement reaction D)Exothermic reaction



ST Fotbe 3R INTW NS faeaT & sl T TP QB @l

A)gfafaramaa sfafhar B) ATt faAfhar
C)uahdl TaTugsr HfAfHar D)Fsamardr HfafRar
Answer Key : A Your Response : A (Correct)

Question No. 11
Who was the Governor General of India during the Sepoy Mutiny?
A)Lord Canning B)William Bentinck
C)Robert Clive D)Warren Hastings

U fEieRa YR &1 TER SR S R

A)dTs ST B)faforms dfes
C)U&E Falrsd D)an= gy
Answer Key : A Your Response : A (Correct)

Question No. 12
A trader makes a profit by selling goods at a profit of 20%. He also uses weights that are 20% less. What is
his actual gain per cent?
A)50% B)25%
C)60% D)40%

VREITS 1) S WY & 9 QX Wit @1 SWEN F g S 20%

A)50% B)25%

C)60% D)40%
Answer Key : A Your Response : Not Answered

Question No. 13

The Government of India designated 29 June every year as "Stafistics Day" in the memory of-
A)Radhakamal Mukerjee B)Prasanta Chandra Mahalanobis

C)Shakuntala Devi D)Dhananjay Ramchandra Gadgil

HRd WER 7 9% 9§ 29 7 B P a1 & wikode foqgudssy # Uifvd fedr uw

ARTHUTRHAH i B)9end Tg FETo-iad
C)RTah el &t D)t A amefare
Answer Key : B Your Response : Not Answered

Question No. 14
Complete the series.

7, 35, 33, 63, 60, 92, (...)
A)69 B)74
C)88 D)81

Top



7, 35, 33, 63, 60, 92, (.)

A)69 B)74
C)38 D)81
Answer Key: C Your Response : Not Answered

Question No. 15
Captain Amarinder Singh is the present Chief Minister of-
A)Odisha B)Sikkim
C)Rajasthan D)Punjab

e smReY Rig & I YeEATE

A)3nfaem B) &
C)TaEaT=T D)USITd
Answer Key : D Your Response : C (Wrong)

Question No. 16
Find the wrong number in the following series.

8, 12, 21, 36, 56, 81
A)56 B)36
C)21 D)12

6, 12, 21, 36, 56, 81

A)56 B)36
)21 D)12
Answer Key : D Your Response : D (Correct)

Question No. 17

Express 4_—4 % + i% + 0_—4 % in decimal form.
3] 3] 3]

A) B)

0.0896 0.0968

Top



0.0888 0.0998
. . MyEducationWire

?ea%e-u%ie-a N EUAFGT FCIT & & F qad HIT] y
A) B) 0.0968

0.0896
C) D) 0.0998

0.0888
Answer Key : B Your Response : B (Correct)

Question No. 18
If the selling price of an article is Rs.240, the profif is 20%, then for how much should it be sold, if the profit is
to be 30%?
A)Rs.280 B)Rs.200
C)Rs.260 D)Rs.300

gfg et aeq &1 faFT T €.240 3, 3R WM 20% o) W 30% WY IFHGEA & I §9 69 {ed W o
EEUIEN

A)%.280 B)%.200
C)%.260 D)%.300
Answer Key: C Your Response : Not Answered

Question No. 19

Choose the alternative that best replaces the question mark(?) in the

given figure.
6|5 4
11| 9] 7
? | 56 | 33
A)T_ B)

Top



38 faeT &1 999 H, A FFd H 9T RBew (7) & =T W™

e F T wafeasw 39gea @
6 0 4
11| 9 7
? 1 56| 33
A __ B)
[Es]
95
C D
) ) 65
85
Answer Key : C Your Response : Not Answered

Question No. 20
Divide Rs.305 in three parts, so that 3/7 of the first, 2/3 of the second and 4/5 of the tiird are equall. Find the
share of the third one.
A)Rs.62 B)Rs.72
C)Rs.75 D)Rs.40

$.305 ) 9 9BR dH MR 7 FfvE Y 7P usd @ 37, TR B 23 IR R @1 45 TR g R @

c223 | | REnd]

A)%.62 B)%.72

C)%.75 D)%.40

Answer Key : C Your Response : Not Answered

Question No. 21
An aqueous solution tums red litmus solution blue. Excess addition of which of the following solutions would
reverse the change?
A)Ammonium hydroxide solution B)Lime
C)Hydrochloric acid D)Baking powder

UF Y o, ad fIcnd & faed & Hiar a) 3a1 g1 FAefafed d 3 feuel faau fien W 98
uftad Fssdt @ S

A) AT gesiFass Ao B)T T
C)ERelaaiNeh 3Fel D)3 T UR¥eR
Answer Key: C Your Response : C (Correct)

Question No. 22 TOp



Which of the following is a folk dance popular during the harvest seasom in Punjab?
A) Odissi B)Kathak
C)Bhangra D)Garba

Uold # AT Pl & WHE FE ¥ @ @ W die O vafed o

A) 3N B) U
C)HITST D)TRT
Answer Key : C Your Response : D (Wrong)

Question No. 23
A person fravels from P to Q at a speed of 50 kan/h for 30 minuies. He then increases his speed to 60 km/h
and reaches his destination R in 20 minutes. What is his average speed for the whole journey?
A)70 km/h B)55 km/h
C)65 km/h D)54 km/h

U R 50 Bl /7 da & 9w @ 30 TP FqQ TEHTHTET S ¢l TER T SR I B SRR 60
fprft / der @1 @ 9l 20 e # ofR Tdew R @ UG T @1 G AT B AR SRl SRR S AT
Hfomy |

A)70 TeRA/ET B)55 TeRaT/EeT
C)65 TerAl/Eer D)54 TerAl/Eer
Answer Key : D Your Response : D (Correct)

Question No. 24
Which number will best complete the relationship given bellow?

120 :: 168 ::288 = 2
A)360 B)362
C)359 D)358

o W e AR fw Ty ddy @ 9@ @ A gui i

120 ::16& &= 28882 ?

A)360 B)362
€)359 D)358
Answer Key : A Your Response : A (Correct)

Question No. 25
Which state lies to the east of Jharkhand?
A)Odisha B)Chhattisgarh
C)West Bengal D)Bihar

Top
IRES & 7§ R A P W AT



A) 3fifser B)GcdadG
C)uf¥=rer Farmer D) SR

Answer Key: C Your Response : C (Correct)

Question No. 26
What does the Ashoka's wheel in the Indian National Flag represent?
A) Wheel of peace B)Wheel of prosperity
C)Wheel of the law of dharma D)Wheel of authority

YR I eae ¥ IS 9% 9T <Xl

A)erfd &1 a5 B)XH f& 1 Tk
C)udA & uH &1 g% D)3TEFR &1 T
Answer Key: C Your Response : B (Wrong)

Question No. 27
Put the proper symbals +, -, X, = in the blank spaces to fit the equation.

(18_3)_7_15_5=0
A)+, =+, - B)+, +, x, +
C)+, X, -, + D)+, -, x, -

i ) Ygfad 1 > T Red st @ SfRd ®ed +, -, x, - B W

(18 _3)_7_15_5=0

A)+7 Ty B)+J HXF
c) Xyt D)+) R
Answer Key: A Your Response : Not Answered

uestion No. 28

In this question, statement is given followed by three conclusions. Choose the conclusion(s) which best fit(s)

logically.

Statement:

F<sH<J2V>E

MyEducationWire

Conclusions:
ILH<V
ILJ>E
ll. F<E
A)Only conclusion | is true B)Only conclusion Il is true

C)Only conclusion lll is true D)Only conclusions | and Ill are true

Top




W v ¥, UF o fom T § ek dF fsed i ¥ 59 Pl o @ Feedt @) g S

fS® w7 ¥ Ya IugEd 3

Y
F£EH<J2V >E

AeHd:

L H<V

. J>E

. F <E

A)had fasHy | |gr &)
C)dhaer sy |1l TEY &1

Answer Key : B

B)%ao fasshy Il ®eY 1

D)dhade sy | 3T 1l F@Er g

Your Response : B (Correct)

Question No. 29

A metallic sphere of radius 6 cm is melted and drawn into a wire, whose radius of cross section is 8 cm. What

is the length of the wire?
A)3.5cm
C).5cm

B)5 cm
D)4 cm

fiEw B a7 TS oy P T 3 AR U6 R ST o 8, P oy §8 & e 8

Forfiex Bl AR o dard fEwER B
A)3.5¥r"é’nﬁa
0)4.59 “EFex

Answer Key : C

Find the ODD one out from the given opfions.
A)LQO
C)TYW

fou TQ fawedt % @ Riva @
A)LQO

O)TYW

Answer Key : D

Which of the following is the cause of ringworm?
A)Virus
C)Fungus

FfafEd o ¥ 9 W TS BT RV 7

C)PgeT

Answer Key : C

B)5 T “&rafrex
D)4 T “Erafiex

Your Response : Not Answered

Question No. 30

B)PUS
D)ORT

B)PUS
D)ORT

MyEducationWire

Your Response : D (Correct)

Question No. 31

B)Bacteria

D)Liverwort

D)feratac

Your Response : C (Correct)

Question No. 32

Top




Complete the series.

11,77, 38.5, 231, ()
A)125 B)120
C)115.5 D)121.5

11, 77, 38.53, 231, (.)

A)125 B)120
C)115.5 D)121.5
Answer Key : C Your Response : Not Answered

Question No. 33
On increasing the temperature of solids, the kinetic energy of the pantiicies-
A)First increases and then decreases B)ls constant

C)Increases D)Decreases

3 B Y g R, HOF B TS S |

A)Tgel dedl & 3R T ' ST § B)feR T &
C)d¢ Il & D)¥e STt §
Answer Key : C Your Response : B (Wrong)

Question No. 34
A hare spots a dog 100 m away and starts running away from it at 12 km/h. One minute later, the dog gives a
chase at 16 km/h speed. At what distance from the spot where fhe hare took to flight will the dog catich tie
hare?
A)1100 m B)950 m
C)900 m D)1000 m

WMWuﬁm@W@@@m%mmmﬂ’r//wawﬁm YIAIFRR
w%uwm@rmwwwmm

e @, ol 16 Pt/ i PR

@ UHE A, Tl V T A AT YR fam yr

A)1100 |t B)950 HI

€)900 |t D)1000 Ht

Answer Key : A Your Response : A (Correct)

Question No. 35
When is 'World Ozone Day' observed?
A)January 15 B)April 25

C)December 16 D)September 16 Top



faeq o< foaw & WHIRIT Tl &2

A)15 STAaT B)25 3mder
C)16 TgHsR D)16 {dsX
Answer Key : D Your Response : D (Correct)

Question No. 36
Find the missing number in the following series.

13, 32, 24, 43, 35, (_..), 46, 65 - -
A)54 B)60 MYEdUCﬂtIOﬂWI re
C)52 D)56

13, 32, 24, 43, 35, (.), 46, 65

A)54 B)60
C)52 D)56
Answer Key : A Your Response : A (Correct)

Question No. 37
What is the name of the observatory to study Saturn's moon and comets by NASA 2018 cammpssign(?
A)W.M.Keck observatory B)Pioneer 10
C)Sofia D)Aryabhata space observatory

TR 2018 HFTF SART U & AT AR YERAGE I AT TR S A FUIT JUSer ST T F49T &2

A)zseT TH $Hdb YR B)urafer—k 10
C)aiftrar D)3mdHE 3iafRer dermer
Answer Key: C Your Response : Not Answered

Question No. 38
What causes decomposition of organic matter?
A)Bacteria B)Liverwort
C)Algae D)Virus

fEfafad 3 ¥ S 91 SR et H FuEeT H BRI o7

A)Sftaror B)ferawac
C)R@oTd D)farsor,
Answer Key : A Your Response : B (Wrong)

Question No. 39
The force of attracfion between all masses in the universe, especially the attraction of the earth’'s mass for
bodies near its surface is called-
A)Spring force B)Mechanical force

C)Gravitational force D)Friction force

Top



seis W Wil geaHFY o i T i AETOEy, TR w0 ¥ Yl o T o T Rufy fid R gedt &

ZeHH TR TIE SR TR SR o @ 3T el ST &7
AFHHA §d
C)T gearTh¥or el

Answer Key: C

Question No. 40

What does the five interlinked rings in the Olympic flag represent?

B)Ti3e aa
D)e¥oT go

Your Response : C (Correct)

MyEducationWire

A)Oceans B)Sports
C)Mountains D)Continents
AifP eae # TER IS Ui Bedt #41 _fid &

A)FRTITR B)Td

C)udda D)HgTeara

Answer Key : D

Question No. 41

How many squares are there in the given figure?

A B
)21 )18
C) D)
37 32
& 1% AR F forge 79 #2
A B
)21 )18
) D)
37 32

Answer Key : A

Your Response : A (Correct)

Your Response : D (Correct)

Top



Question No. 42
become the first police force in the country to digitise all malkhanas, rooms for keeping seized
arms and ammunition.

A)Delhi Police B)Bengaluru Police
C)Chennai Police D)Mumbai Police
, Ssd SRRt @R AmEnsEEER & e gged Wl A, @t B ffvedeRo @ g @
Pl Ugsl W CEECE]
A)feeelr afera BTG & ufere
C)de=rs e DT T
Answer Key : A Your Response : Not Answered

Question No. 43
India's first self~-made fighter jet is-
A)LCA Tejas B)MiG-21
C)Dassault Rafale D)Dassault Mirage 2000

HRA P UgeN ¥9-FAMA A a9 I S o &

A)LCA oo B) MiG-21
C)?FIHO'E el D)EHH':»E FST 2000
Answer Key : A Your Response : D (Wrong)

uestion No. 44

Bronze is an alloy of-

A)Zinc and iron B)Copper and tin

C) Tin and zinc D)lron and mercury

Higl & Mg B

A S iR emRA B)arer 3 fosr

C)fest 3R 5w D) STRA SR TS

Answer Key : B Your Response : A (Wrong)

Question No. 45
What is reduced by a lubricant?

A)The smoothness of the surfaces B)The bright colours of the surfaces

C)The shiny nature of the surfaces D)The interlocking of the irregularities of the surfaces
P @ 391 $H fFAT ST &

A)Tder Fr feerge B)Tdel & a#ehlel 197

C)Tdel T THFEN THhid D)ace! $r AfmafEaanit &1 getaifes

Answer Key : D Your Response : D (Correct)

Question No. 46
What is the valley (lowest portion) of a sound wave called?
A)Lowest B)Crest
C)Highest D)Trough

Top
af T B S (YR FrE YR Y 91 Hel o &



A)ﬁl’[ﬁmagq- B)W(CI’ESI)
C)3TaaH D)aTei(Trough)

Answer Key : D Your Response : D (Correct)
Question No. 47
Which of the following does NOT increase while moving down the group of the periodic talbls?

A)Metallic character B)Atomic radius

C)Number of shells in an element D)Valency

3ad URvft & fedl ag 4 i < W A
A)ermicaeh apol

C)Er deg & el fr gEar
Answer Key : D Your Response : C (Wrong)

Question No. 48
What is the unit of measurement of very long distances between celesii
A)Metres B)Miles
C)Kilometres D)Light years

srprde Mg % d & wga ol et & A B oS ¥ @

AR B)HId
C)TreltareT D)Yehrer av
Answer Key : D Your Response : D (Correct)

Question No. 49
Why does dispersion occur when white light which is a mixture of seven colours passes through a glass
prism?
A)7 colours of white light travels at different speedsB)7 colours are refracted at same speed.
through a glass prism
C)7 colours are reflected by prism D)The white light scatters the 7 colours throughout the

prism

99 93d PRI, @ W T I aw F B S ReW V YIR [oRAT ¢ al Fa@ IReROpTT Far
A)RIT W & 7 1T Fig & Bod T Feer-31ee AIB)7 T[T TA I I JIafdd aid ol

T ;ORI
C)7 W TsdA @y qafdd g gl D)edd wahrer, 7 @i i W st dA ghiioia s g
Answer Key : A Your Response : D (Wrong)

Question No. 50
In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement MyEducationWire

Money plays a vital role in our lives.

Conclusions:

I. The poor can never become rich.

Il. All the rich men take part in politics. Top
A)Only conclusion Il follows B)Only conclusion | follows



C)Neither conclusion | nor Il follows D)Either conclusion | or Il follows

WA W, T Y & 91c & Fsdd fou Mg €1 99 Frsed @l (@ Frewst ) g o aifee sU 9 IS
ST g

Y

Y9 TR Sfia % Hecagul yfAeT M B

gL d

. g F 3pfR T = Wbl

1. @it spfie &1 IEFIfT o e Ad &

AVahaer ey || grefsl adr g1 B)dae sy | drelel &ddT &1

C)a oy | 3 & € Il uTelad Far g1 D)IT & faswy | a1 1l grest i g

Answer Key : C Your Response : Not Answered

Question No. 51
Which of these is NOT a blood group?

AYO B)A
C)AB D)C

T A B W 0P W W T o

A)O B)A

C)AB D)C

Answer Key : D Your Response : D (Correct)

Question No. 52

If A, B and C are three points on a circle, where BC is the diameter and

AC=AB = 5.2 em. Find the radius of the circle.

A) B)

6 cm bem

0 D)

cm 4cm

Ifg A, B3R Cus g9 W Pua e g &, s1er BCeaorw § 3
AC=AB=5/2 8 &I 39 1 F=ar 719 HHeT

Top



6 B 5B MyEducationWire
C) D)
5'5 qHT 4T

Question No. 53
What is the difference between Compound Interest and Simple Interest on Rs.1000 at 10% after 4 years?
A)Rs.74 B)Rs.64.10
C)Rs.16.40 D)Rs.52

51000 UMW 10% AR T 4 a9 & I O 3R TYRY A9 & AR AT |

A)E.74 B)%.64.10
C)%.16.40 D)%.52
Answer Key : B Your Response : Not Answered

Question No. 54
Which of the following laws states that electric current ‘I’ flowing through a metallic wire is directly proportional
to the potential difference V', across its ends provided its temperature remains constant?

A)Gauss' Law B)Ohm's Law

C)Newton's Law D)Pascal's Law

fPefafEd % & o O W g8 =il § 5 Ruzamuonfrd uig F arR @ 967 areh figgd oRT 1 S9d
Rt ¥ d9 favaiR v & SFwARERT gt &

A)aTg &1 fas B)3ie &7 o aH

C)gest & foras D)urEsher &1 faras

Answer Key : B Your Response : B (Correct)

Question No. 55
P is facing Q. Q is fo the north of P. R is placed on right side of Q. What is the direction of R with respect to
P?
A)North west B)South west
C)North east D)South east

QFa 3RBIP
R, Q & J§ 3R B p & Uer R & fI=m 3T &

B)efaiur gfeas
D)faror ad

Answer Key : A Your Response : C (Wrong)

Question No. 56
Find the ODD one out from the given opfions.
A)House : Room B)Tree : Branch

C)Car : Engine D)Table : Chair Top



fau Y fawedt @ ¥ Riva @ I

AR : FHRT B)US : T
QPR : Fo D)AW: & Hf
Answer Key : D Your Response : A (Wrong)

Question No. 57

. 1
If :-;+1 =2, then find the value of x +—.
X X

A) B)

0 D)

ofeg x-!-}—l(:Q,Fﬁ' xj+l_1 FT AT AT FifSw)
2

A) B)
1 -2
C) D)
0 2
Answer Key : D Your Response : D (Correct)

Question No. 58
Which of these is a trace element?

A) Potassium B)Manganese

C)Sodium D)Magnesium

T A P W 0P GEAHIRS a9 &

A)are T B) BT

Cc)afsaa D)FeARES

Answer Key : B Your Response : Not Answered

Question No. 59
Which harmone is produced by Islets of langerhans to control diabetes mellitus?
A) Ptyalin B)HCI

Top



C)Rennin D)Insulin

SRSt Ay B PHRT & & R AEdcy 3 RS SarT fFY e & Sl P ST

A)zrifer B) HCL
CRfaAaT NESIEC
Answer Key : D Your Response : D (Correct)

Question No. 60
Which is the oldest hockey tournament in India?

A)Beighton Cup B)Nehru Cup

C)Ramaswamy Cup D)Durand Cup

YR &1 T XA S THHE B 0 @

Adled HU B)ag® &9

C)UHTEGH &9 D)§¥S P

Answer Key : A Your Response : Not Answered

Question No. 61
Simplify: 0.8 + 0.08 + 0.008 + 8
A)880.8 B)8.888
C)8.808 D)8.088

WA P 08.8 + 0.08 + 0.008 + 8

A)880.8 B)3.888
C)8.808 D)8.088
Answer Key : B Your Response : B (Correct)

Question No. 62
Which element is the first element in the periodic table?

A)Helium B)Oxygen

C)Hydrogen D)Neon

3ad YRt # UET de@ B A @

INHIGRE:] B) 3iferdiotet

C)grzataa D)3t

Answer Key : C Your Response : C (Correct)

Question No. 63
Which of these plants has multi coloured leaves?

A)Jasmine B)Hibiscus

C)Tulsi D)Croton

T A few M # Tg-oh et et &

A)THS B)ersfathy

C)a e D)sres

Answer Key : D Your Response : D (Correct)

Question No. 64 Top



There are six members in a family. This year the father died and he has a son Ramesh, and a son is born to

Ramesh. The average age of the family is the same now as it was 10 years back. At what age has the father

of Ramesh died?
A)60 years
C)64 years

TP URaR o T e 3 3w I i

B)50 years
D)72 years

%uwamam&m@a%,m@mw@mumﬁmﬁmmmﬂg% |

A)60 T§
C)64 a§

Answer Key : A

In the second quadrant, cos 0 varies from;

B)50 a¥
D)72 a¥

Your Response : Not Answered

Question No. 65

A)1/2 to -1 B)O to 1/2
C)0 to -1 D)-1to 1
TR T A, cos 6 T TH & d S Bl

A)1/2F -1 B)O T 1/2
C)0 ¥ -1 D)-13 1

Answer Key : C

What is the concept of spherical mirrors?
A)Reflection of light
C)Scattering of light

Mg G0 B TRV FIT &7
A)TeRTLT T Gl
C)WerTr &7 JehToTsT

Answer Key : A

MyEducationWire

Your Response : Not Answered

uestion No. 66

B)Radiation of light
D)Refraction of light

B)ushrer &1 fafasyor

D)Jehrer &1 dacd

Your Response : D (Wrong)

Question No. 67

Who was the first Indian male athlete to reach the final of an Olympic athletic event?

A)Michael Kindo
C)Surjit Singh

3ieifte qyafce gdc & Wi § U Jrel Ugel HRdG GeY Qydie B up
B)ear &g
D)3l arer &g

A)HATSHT S
O¥ 3ol &g

Answer Key : B

Simplify:1.2-0.12

B)Milkha Singh
D)Ajit Pal Singh

Your Response : B (Correct)

Question No. 68

Top




0

11/90

e fifew: 1.2-0.12

A)

0

11/90

Answer Key : D

Complete the series.

CX, WP, UJ, SF, (_..)
A)QD
C)RE

CX, WP, UJ, SE, ()
A)QD
C)RE

Answer Key : A

A)Madhya Pradesh
C)Maharashtra

B)

9/1

D)

0

11/10

B)

9/1

D)

0

11/10

Your Response : Not Answered

Question No. 69

B)YT
D)OP

B)YT
D)OP

Your Response : Not Answered

Question No. 70
Which of these states was NOT divided in the year 20007
B)Uttar Pradesh
D)Bihar

a§ 2000 # FT QA B A VT FAHTHETHEE FERMT



A)ALT gger B)3cat weer
C)HgRISE D)fesr

Answer Key : C Your Response : Not Answered

Question No. 71
Find the value of 6 222x({1 + 2).

A)3 B)1
C)6 D)9

MyEducationWire

6 +2x (1 +2) BT HAA AT

A)3 B)1
C)6 D)9
Answer Key : D Your Response : D (Correct)

Question No. 72
IfA+B=C,D-C=Aand E - B = C, then what does D + F stand for?
A)C B)J
c)Q D)E

YA +B=C,D-C=A3RE-B=CFT D+ F BN ANl &7

A)C B)J
0Q D)E
Answer Key : B Your Response : Not Answered

Question No. 73
If 'PALE’ is coded as 2134, 'EARTH' is coded as 41590, how is 'PEARL’ coded?
A)25430 B)25413
C)24153 D)29530

Tfg 'PALE' ' 2134 foIEl SIAT §, 'EARTH' &l 41590 fr@l WGl §, o 'PEARL' & &9 foral SR

A)25430 B)25413
C)24153 D)29530
Answer Key : C Your Response : C (Correct)

uestion No. 74

Top



Read the following information carefully and answer the question given below.

Eight friends—P, Q, R, S, T, U, ¥V and W are sitting around a circular table facing the centire. Each one of them
likes different brands of watch—Sanata, Titan, Fastrack, Swiss, Casio, Timex, Rolex and Fossil, but not
necessarily in the same order.

P sits third to the right of the person who likes Fossil. P does not like Fastrack. T is not an immediate
neighbour of W. R sits on the immediate right of the person who likes Fastrack. Neither P nor W likes Casio or
a Titan. The person who likes Casio is not an immediate neighbour of the person whe likes Fossil. The person
who likes Sonata sits second to the left of T. The person who likes Sonata is an immediate neighbour of the
both persons who like Timex and Rolex. Person who likes Rolex sits third to the right of Q. @ does not like
Casio. U is not an immediate neighbour of P. V is not an immediate neighbour of the person whao likes Sonata.
Only two people sit between the person who likes Rolex and W. The persons who like Casio and the Titan are
immediate neighbours of each aother.

Who among the following likes Titan?

A)S B)R
Y D)Q

AT THER S eIF ¥ U 3R R RE M weT &1 IR &

B 17- P, Q, R, s T, U, vV 3R W wq@mﬂwﬁmm

mwma@m#m

P I9 =it QTEI'? AR dRR WA RISedIee N ;
WU TH ATRETREE ¢ ST mmwmw@m@mm o
a7 PR aﬁrwﬁ m%ﬁm il et Rfaoee 3, mﬁ £ @@m@%ﬁlﬂ%m Lk EoG)

%&@gmmmm@wm R P
%a%x—:'r‘r@?m Tgﬁwm%wmmam%glﬁWJMﬁmmm

T aw&wwﬁﬁgn

frafafea o @ @7" GEGS) aﬂg@ Bl acin

A)S B)R
Vv D)Q
Answer Key : D Your Response : Not Answered

Question No. 75
The negatively charged ion is known as-
A)Anode B)Cathode
C)Anion D)Cation

FUNHS ARG AT B 34T Sl & AT
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C)UM-(Anion) D)Y-Tg-(Cation)
Answer Key : C Your Response : D (Wrong)

Question No. 76
In this question, two statements are given followed by two conclusions. Cf
fit(s) logically.

jose tine MMMMSE vahnitcin thessit

Statemenits:

1) Al frults are baskats. MyEducationWire

2) Some baskets are jars.

Conclusions:
|. Some jars are baskets.
Il. No basket is fruit.

A)Both conclusions | and Il follow B)Only conclusion | follows

C)Only conclusion Il follows D)Neither conclusion | nor Il follows

T W 4, § Pt & 91g § P Ay T §1 9w Pread () A g o) 9IfSe wU 9 wed Iuged o

HY:

1) ot wa, Y ¥

2) FB A&V, SR B

emd:

.. $B VR APY ¥

Il. $B BT Ba & ¥

A)arat fereed | 3 11 3uaga 1 B)dael sy | 3uged B
C)Fael fasahy |l 39ugd 21 D)o &t forsshd | &1 €1 1l 3uged gl
Answer Key : B Your Response : B (Correct)

Question No. 77

Top



Evaluate: {‘E"'IT J{ V31 T
J3-1 N3 +1

A) B)

C) D)

14 24

N {*’5”}2{5-1}3

J3-1 N3 +1
A) B)
12 16
0 D)
14 24
Answer Key: C Your Response : Not Answered

Question No. 78
Which of the following fuels is NOT used in thermal power plants?
A)Fuel oil B)Natural gas
C)Uranium D)Coal

P o & R SU o IO AT Regd JbiEt o T PR WA 2

Agaa de B)reicis Ity
O3 Yoras D)1l
Answer Key: C Your Response : B (Wrong)

Question No. 79
While executing a job, what 20 women can do in 16 days will be done by 16 men in 15 days. Find the ratio of
capacity of a man to that of a woman.
A) 3 B)5:6
C)3:4 D)6 :7

7% T, TR a0mRemly 16 R Sameeamy, 38 16 oSt gaR1 15 et § qOf R ST 81 U gV o3,
g,







A4 :3 B)5 : 6
0)3:4 D)6 : 7

Answer Key : A Your Response : Not Answered

Question No. 80
P, Q and R work together to finish a wark. P and Q finish 70% of the wark while Q and R finish 50% of the
work. Who will finish first, if they work alone?
A) Cannot be determined B)P
c)Q D)R

P, Q @R R AAER U W T TR B &1 PP ol Q. 70% oW & #RA &, 9afe Q 3R R, 50% P
X XA ¢ I A FA-APA W A & A TR Ted B I B [ W

A) e o1&l foham S gehar B) P
0Q D)R
Answer Key : B Your Response : Not Answered

Question No. 81
Which of the following is a reproductive cell?
A) Lymphocytes B)Gamete
C)RBC D)WBC

frefafEd % @ @F @ @ verm SR @

A) feFmraTse B)T 7H
C)RBC D)WBC
Answer Key : B Your Response : B (Correct)

Question No. 82
Two numbers differ by 1365. On dividing the larger number by the smaller, the quotient and remainder got amre
6 and 15 respectively. Find the larger number.
A)270 B)1095
C)1784 D)1635

A e 1365 F A At ¥ T e @ 91 A AviE TR R, e R e Faw 6 AR 15

A)270 B)1095
C)1784 D)1635
Answer Key : D Your Response : Not Answered

Question No. 83
A cone is 32 cm high and the radius of its base is 8 cm. It is melted and recast into a sphere. Find the radius
of the sphere.
A)2.5 cm B)4 cm
C)6.5cm D)8 cm

U@ U9 B FAR 32 VW IR TS MR B s 8 Ff B W udR @ M § aqen Siar 31 9w M
CoRE o i IGRGE ey

A)2.5 F BT B)4 T “Erafiex

C)6.59 “Efiex D)8 T “Erafiex Top



Answer Key : D Your Response : Not Answered

Question No. 84
Which of the following cities became the first fo launch a 24x7 Ultra Low Emission Zone (ULEZ), inside which
vehicles will have to meet emission standards or face a change?

A)Sydney B)Chennai
C)London D)Washington
o= R R T O R TR 2847 7

Answer Key : C Your Response : Not Answered

Question No. 85
A son's present age is two-fifths of his mother's age. After 8 years, he will be one half his mother's age. What

is his mother's age now?
A)40 B)50
C)42 D)36

P &R B T g, IgH A P g B 2/5 T 8 99 TG, SEH I, IuH A B rg Hr omft S
S8 Wl & FAUE g e 8

A)40 B)50
C)42 D)36
Answer Key : A Your Response : Not Answered

Question No. 86
Which of these fractions cannot be reduced further?

14/21, 33/43, 18/24, 92/24, 41/82
A)33/43 B)41/82
C)92/24 D)18/24

PreT 1 @ 6 BT B SR IS W T8 5 W Sodl &

14021, AR, 18245, Y224, 41/82

A)33/43 B)41/82
C)92/24 D)18/24
Answer Key : A Your Response : B (Wrong)

Question No. 87
Acidic solutions in water conduct electricity because they produce-

A)Sulphide ions B)Chloride ions
C)Hydrogen ions D)Hydroxide ions
ot % At o faaae o figgd waifsd ot & Faife I T B 9

A)Hehlgs AT B)eFdRIss AT Top



C)gTssiald AT D)gTssiadrEs 3T

Answer Key : C Your Response : D (Wrong)

Question No. 88
Find the ODD one out from the given opfions.

A0 B)80

C)79 D)20

fag TTq Ayt @ ¥ ariwa @ g

A)40 B)80

)79 D)20

Answer Key : C Your Response : C (Correct)

Question No. 89
Two numbers have their LCM and HCF to be 693 and 11 respecfively. If one number is 99, find the other
number.
A)79 B)12
C)34 D)77

3 Jemelt & AAYLCH) R WHUHCE) FAE ¢93 AR 17 & A TS deA 99 § of Y wAw 7

aiforg

A)79 B)12

C)34 D)77

Answer Key : D Your Response : D (Correct)

Question No. 90
If in a certain code 'YELLOW" is written as "XFKMNX", how is 'BORDER' coded?
A)AQPESD B)APSEFS
C)ANSCFQ D)APQEDS

afE U@ TRftad TOHWl # YELLOW' B XFkMwy' TrREl STr & S@ o # ‘porDER’ B P forEm

SRR

A)AQPESD B)APSEFS

C)ANSCFQ D)APQEDS

Answer Key : D Your Response : D (Correct)

Question No. 91
Bohr's orbits are called stafionary, because-
A)Protons remain in the nuclei and are stationary B)Electrons in them are stationary

C) Their orbits have fixed radii D)Electrons in them have fixed energy

)mmm—sﬁgmﬁwmg B) i 373 AWl g saieela R @l &

C)3aAehr at3il Fr Fear ARad ad & D) 3TH AT g gelarelar & fAR=d Fail gl &
Answer Key : D Your Response : A (Wrong)

Question No. 92

Top



Which number will best complete the relationship given bellow?

7 :64 ;=87 . .
A)81 B)80 MYEducatlonW|re
C)79 D)82

o @ e AR g Ty ddy @ 9@ O A gui Sty

7 =644 882 ?

A)81 B)80

)79 D)82

Answer Key : A Your Response : C (Wrong)

Question No. 93
Which of these is used to break the circuit or to close the electric circuil?
A)Bulb B)Cell
C)Switch D)Wire

T @ frad I uivoy @i faedfyd O faeyd, uNuY & @i e @ T e ST o7

A)Ted B)dedr
C)aa D)dR
Answer Key : C Your Response : C (Correct)

Question No. 94
If (1 +tan A) (1 + tan B) = 2, then find A + B.
A)180° B)90°
Cc)o° D)45°

gfE (1 + tan A) (1 +ttem B) = 2 §, Al A + B &1 HF FAMARBIL

A)180° B)90
C)o° D)45°
Answer Key : D Your Response : D (Correct)

Question No. 95
If north east becomes west and south east becomes south and so on, what will be the west?
A)South east B)North east
C)North west D)South west

afg SR g4, it & o1 § SR <@ gd, <@ @ on § o fiftew s dm

A)gferor 99 B)3ca} ud
C)3cax 9feas D)ef&or ufdas
Answer Key : B Your Response : B (Correct)

Question No. 96 TOp



At what rate per cent will a sum of money double itselfin 30 years?

A) B)
3% 31
4
o D)
31o 31
3 2

foras gfaera sarer &1 a7 W 15 Tf¥r 30 awf 7 =7 F Eh A

STeEf?
A B)
3% 3 l %
4
C) D)
3 l % 3 1 %
3 2
Answer Key : C Your Response : C (Correct)

Question No. 97
Read the following information carefully and answer the question given belows.

Eight friends—P, Q, R, S, T, U, V and W are sitting around a circular fable for a meeting facing center. P is
second to the right of V who is third to the right of Q. S is second to the left of U who sits between V and P. R
is not a neighbour of Q or T.

Who is third to the right of V2
AQ B)R
C)W D)T

Top



AT THER S edF ¥ U 3R 9 RE M woT &1 IR &

36 ded- P, Q R, S, T, U, vV 3R W U R 3 ROT T TR S SRR SR B
P, vaa'ca%ahtﬁ@mqwam%maliﬁ@ﬁaﬁ?ﬁvﬁWHWMWSﬁluswﬂﬂ%%@?@@
M W T 8 St v 3R p i SE B R, TRAQ T PR TSI o

v & € 3R ¥ I wm W@ @

AQ B)R
QW D)T
Answer Key : B Your Response : Not Answered

Question No. 98
Which acid is present in sour milk?

A)Citric Acid B)Acetic Acid

C)Glycolic Acid D)Lactic Acid

2 g A o T e S R

Afafes Fa B)ufafees el

C)TeTsaiTerd 3Fel D)eifeFesd 3ol

Answer Key : D Your Response : D (Correct)

Question No. 99
Find the missing group of alphabets in the following series.

WO, CJ, HF, (_.), RA
A)PD B)MC
C)AR D)FC

frfafaa AR ser & FIiRYT T @ Fadet

WO, CJ, HE, (), RA

A)PD B)MC
C)AR D)FC
Answer Key : B Your Response : Not Answered

Question No. 100
P invests Rs.3500 in a business. After 5 months, Q joins him with some investment. If the profit that Q gets is
50% more than that of P, then find the investment of Q.
A)Rs.9000 B)Rs.5000
C)Rs.7000 D)Rs.6500

Top



P U UIEM ¥ %.3500 I I Fdl g1 5 AAT & Ae, Q TV 1AW H WM IWPH WY S ¢l I Q B
e T @M P & @ ¥ 50% Sfftd @, df Q & AW FddhnaG
A)%.9000 B)%.5000

C)%.7000 D)%.6500
Answer Key : A Your Response : Not Answered
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